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And v'"1 said, they require assessment — X212 535X 92K 19 27

OVERVIEW

The X3 cites the case of a person who was w7pn a woman with "X (silk;
which was worth [more than] a 7v179). There is a dispute between 727 who
maintains that she is nWTP» even if the value of the *X7°w was not assessed,
and 701 27 who requires that its value be assessed in order for the 217°p to
be valid. There is an opinion that if the man said to the woman I am giving
you this *X7°® as is, for your 7217p (and he did not state a price how much
they are worth), then 701 271 727 agree that she is nwTpn without requiring
an assessment. They only argue in a case where he told her that this *X7°w
are worth fifty 11 and it turned out eventually that they were worth fifty 17,
however there was no assessment (before the 1"v17°2), in which case 1727
maintains that she is nwTp»n and 70 27 maintains that she is not nwTpPH.
There is a different view that even if he gave it to her as is, nevertheless 7127
70 1M are in disagreement whether or not she is nwmpn. Our MdOIN first
qualifies when this assessment is to take place (according to 701 27). Then
MvoIN cites and resolves a seeming contradiction to our X7,

NN notes that the statement XMW 27X -
— 10‘1\7”‘.7:1 V9993 9INRP YWD 9P

Means that X" is required before the Pw179p, as 3"'w1 explained.

Based on the aforementioned, N190IN asks:
— 233 WA %Y YIPNN 22 NN (x,nn 97 72 PID IPYT NI

And it is astounding! For later in the second P92 we learnt in a Xns»2
concerning a case where one said to a woman become nen7p2 to me with a

!'53% 7"72 where *"vA states that NWTIPR AR 7200 DWRAw XPw 0. It cannot mean (even) after the PwITR,
for what would be the npY?n between 701 271 727 according to the Xnp X1, where they argue in a case of
Pwan MY 7wt nRT. The only way we know that pwnn " is if there was Xmw ([at least] after the 7"W17p).
If xmw °>7¥ would mean (even) after the PwI7p, then what is the np12nn? There was 8w after the Pw17p!
In addition according to the X7n2 X7 that *3*25 "1 177 33, and 70 21 maintains that 103 MW must also be
v°; it is obvious that the X2 must be before the 7"217°p; otherwise it would not be 7p.

2, See the X3 and »"wA there (*wTpni 71"7) that the X077 is 70W32 (and not 21 Mww3a). The 13 and the X"wan
here also delete the word 2117 in this M501n. The case in the Xn™72 (as the X3 explains it there) is that he
was W7pn her with a 7o R ww, however it did not have i nn »7v (or it was written 7aw% K7W, etc.), but
there were 717701 *7¥. According to »"1 (who maintains >n73 7n°nn *7v) there is no viable 7w and therefore
no PY17P; according to X"7 (who maintains *n1> 77°0n *7Y) it is a viable 70w and she is nwTIPn. The omon
are uncertain whether *n72 77°nn 7Y or N2 77°0n 7Y, therefore 7”37 NXR PRY and if Y75 MW 12 w° then she
is ("RTY) nwTPA.
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"WW; there is a dispute between »"1 (who maintains nwTpn 71R) and YR " (who
maintains that she is nWTIPH) -
- 35‘\\’)‘11?): N9 NIV 12 YW ON 9207 HN PNRY 099N 02901

And the 2°»51 who maintain that we assess the value of the paper upon

which the 20w is written, and if the paper is worth a 7ump she is pwmpn.
This concludes the citation of the Xn>1.

NvOIN continues:
- 41’\')1‘1",7 9NN 92930 NN PNRY YNV

And it seems that we assess the paper after the 121752 to ascertain whether it
is a 71v17d MW or not -
— AT AIN XY 9530 MY NYNNHNT 23 YY IN)

And even though that initially when the Pu17°p took place the value of the

paper is not known, and nevertheless if (after the P 7p) it is found to be a mw
70179, she is nwTPA. This (seemingly) contradicts the explanation of "7 and m»doIN, that
X is effective only if took place before the Pu17T°p!

Mmo0IN answers:
— %117 95 1Y 9IRT 99N 999 KY N1y 9913 901 593 9NT NaWshot 91319 w3

And one can say; that according to the (first) view which maintains that
if the man said 377 %> then there is no dispute, and both 701 2711 727 agree
that X212 is not required and she is nwTIPA (if there is a VNS MW), then we

can answer that the Xn>>12 is discussing a case where he said to her ";17 %'
and therefore she is NWTPn because by 117 92 no XMW is required (before PLITP) -
— ANP 297 1Y 133 10T Y927 NawIYH)

And even according to the view that the dispute is even when he said %>

7775 then we will be required to explain that the X172 means thus -
— NYNPN NVIND NIV 1 YW OX NADINNN 92930 NN PNY 90V NYTPY NEYI ON)

And if he wishes to be w7p» her with the "vw we must initially assess the

paper and if it is worth a 77292 she is nWTIPR. The phrase 117 IR AW -
— NYNN MNY DN 9995

means if they assessed it initially; before the Pw17p.

* However n"1 would (seemingly) maintain that even if 7°°17 X 7w and it is a 70179 MW she will not be
nwTPn, since her intention is to become NwT1pn through "vw 11p and not through 72 PIp.

* mooIn assumes (in the question) that the 737 NX Pnw takes place after the Pw1Tp; for if we are evaluating
the paper before the "W 7P to ascertain that it is worth a 7v179, this indicates that he intends to be w7pn her
with the value of the paper, so why would »"- maintain that she is not nwTpPn. Granted that it is not a valid
qvw, but she is aware that he is being w7p» her with the value of the paper which is a 1M mw.

> There is still a requirement to have the Xmw (after the w17°p) since in the case of the 7ww (as opposed to
the case of "X7°W) we are not certain (as of yet) whether the 70w is a 70179 Mw. See ‘Thinking it over’.
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mooIn anticipates a difficulty; if it was assessed to be worth a 7v19 before the Pw TP
then why does n'"1 argue and maintain that she is not nwTpn? MooIN replies that indeed
n"7 would agree with the 2°non that if they were 7717 NX 7nw before the 1w17°p, that she
would be nwTPn; and when the 2°»5m voiced their opinion it was -

:90Y DYON NV MY 12 PRY 29 YY GN NYTIPN INRT IR PNy

To exclude the view of X'"7 who maintains that she is nw7yP» even if

there is no 7“2 MW and maintain that she is nwTpP» because it is a “ww.
The omon disagree with this view, and contend that a woman cannot be nwTp»n (*RT1) with
this type of 70w, unless the paper is valued (before the Pw17°P) at a fiv17d or more.

SUMMARY
According to 701’ 21 the X"Ww must be done before the 1u7p.

THINKING IT OVER

1. When the &3 mentions 1777 92', does it mean that he specifically said 9>’
"7, or as long as he was wipn her with q0> MW without mentioning an
amount it is also considered 177 93?

2. Mmoo assumes that if *»%5 X? 1777 922 then in the case of Tww if he told her
177 722 she would be nwTpn if it was realized later that the QW is 7075 MW.
Seemingly however this ruling that *»%5 X? 177 %32 is only in the case of
X where it was certainly worth a 7?179; however by the case of a ww
where we are not certain at the time of PY17°p that the 0w is worth a 70179,
who is to say that she is nwTpn? Perhaps she is not n¥7 7210 and is not
nwTIpn?!1®

® The o0r, however, also disagree with n"7 who maintains that >n73 i2°n7 >7v and if it is not worth a 7179
she is nwTpn 71X "R7, however according to the 231 who are 177 >poon whether m2°nn >7v or  77°0n 7Y
°n73, then if 7”79 MW 12 PR, she would be nwTpn Po0.

7 See (™K 7"Xa 1"72) n"m.

8 See 1"mx footnote # 123.
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